REVISIONS
[> NOTES ® ] DATE APPROVAL |
[Wioos v [171a721 | 1LC
1. NON—IMPACT RESISTANT OPTION — 125" v jas2z/21 1 TLC
st o iR E e e
ZING SHALL HAVE A MAXIMUM HEIGHT OF 13 GA HORIZ ANGLE \
670" AND A MAXWUM LENGTH-OF 24.00",
GLAZNG IS NOT IMPACT RESISTANT AND DOES
NOT MEET TH
NDBGRNE DESRS. REGIONS,
2. IMPACT RESISTANT GLAZING OPTION — 15 GA MIN HORIZ —_ |
IMPACT RESISTANT GLAZING SYSTEM MAY BE TRACK \ @ DOOR |
INSTALLED IN INTERMEDIATE SECTIONS (WITH ;
OR WITHOUT DECORATIVE INSERTS). GLAZING 13 GA CONTNUOUS
SHALL BE 1/4" POLYCARBONATE. MAXIMUM ANGLE ﬂ
GLAZING DIMENSIONS SHALL BE 11° x 17%, |
Al Al Al
ALone T 15 GA MIN VERT |
B oy o e Sinl. o
MA' Al - . " . >
SECTION EXCEPT TOP AND BOTTOM PANELS. ae sciga-o/8 1 H e <
ALUMINUM FULL VIEW SECTION SHALL HAVE FOLE LOCATION FOR H I8
RAILS AND STILES OF EXTRUDED ALUMINUM WOOD SUBSTRATE. SEE s 20 GA CENTER STILE— |fe@
ALLOY 6063—T6 AND .125" MINIMUM DSB . =
GLAZNG INSTALLED WTH ALUMNUM _ SHEET 3 FOR MOUNTING a H 4
RETAINERS N ORDER TO TO OTHER SUBSTRATES.
STATIC DESION PRESSURES SHOWN. ON' THIS W H "
DRAWING. AFV PANEL SIZE IS 45.5°x21.9 N =
st Srme s o s =
A M . /
WIND—-BORNE DEBRIS REGIONS. 1/4—-20x9/16" TRACK \ Ji
BOLT AND 1/4—20 HEX N :
4. MINIMUM OF 1° OVERLAP ON BOTH JAMBS NUT AT EACH TRACK
REQUIRED TO MEET NEGATIVE DESIGN CLP LOCATION 1 0
PRESSURES. (SEE DETAIL A SHEET 3) H D "
5. SLIDE LOCK OR OPERATOR REQUIRED. I |
11 GA TRACK cups—/ 233DGASH\I'_IEOOD FILLED: SHEET o
6. SECTION STEEL TO HAVE THE FOLLOWING (WELDED, BOLTED, OR :
MINIMUM_ THICKNESS: RIVETED O WALL i <
pEL T I YR ANGLE) SEE NOTE 8 AND 7l —
434, 436 - 25 GA DETAIL F SHEET 3 = ]
7. THE DESIGN OF THE SUPPORTING S(';"(D; RLoEch:I&r:’E VEI’:‘HD M
STRUCTURAL ELEMENTS SHALL BE THE _
RESPONSIBILITY OF THE PROFE! OPERATOR — SEE NOTE 5)
REGORD FOR THE BUILDING OR SIRUGTURE
AND IN ACCORDANCE WITH CURRENT BUILDING ] 0
CODES FOR THE LOADS LISTED ON THIS H at
DRAWING.
8. TRACK CLIPS SHALL BE LOCATED WITH o
CENTERLINE OF BOTTOM CLIP SPACED 10° H °
MAX FROM BOTTOM OF TRACK AND REMAINING H
TRACK CLIPS SPACED AT 24" 0.C. MAX H f
SPACING BETWEEN TOP TRACK CLIP AND ~id
SPLICE PLATE SHALL BE 30° 0.C. MAX. —
S, WHEN MOUNTING TO WOOD, DOOR JAMB TO
BE_MINIMUM 2x6 STRUCTURAL GRADE LUMBER. NOTE:  (4) SECTION SOLID DOOR
REFER TO JAMB CONNECTION SUPPLEMENT SHOWN. SEE SHEET 2 FOR U-BAR
FOR ATTACHMENT TO SUPPORTING LOCATIONS ON DOORS WITH OTHER [ 0
STRUCTURE. se N QUANTITIES AND SEE NOTES : L
2, P OF THIS SHEET FOR H
ELAZNG OPTIONS. ﬂ H °
SUPERIMPOSED DESIGN PRESSURE H . 3 —
LOADS ON SUPPORTING STRUCTURE SHEET HR
ok | poor | Max UNIFORM LOAD EACH JamB 7 k=
o | HEtGHT (PLF) (
T0—4"| ALL +193.1/-218.9 ==

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +37.5/—42.5

MAX WIDTH: 10'-4"

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: YES

MAX SECTION HEIGHT: 24

8

7 I

Digitally signed
. by John
|a N Christian Voelkel

Date: 2021.05.03
10:07:14 -05'00"

THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.

\WINGS AND ALL

ARY PROPERTY_
ANYDNE WITHOUT THE PRIDR WRITTEN CONSENT OF

ruvmmmmmmumrrsmum

Yisio s vias | OVER S00 +.008/-003
REF_DVG USED OV | = | il

TTHER_ DN DRMATION TEREIN ARE THE COMP ANIES.
D DTN T4 HOLE DR TN AT NAYNCT. . COPIED. 1% AN MAANER. DR TESCHDSED Th EVEREAD JR CIRPORATION 6 DISCLONRE D
ANY (F THIS IRAVING OR INFTRWTION 1§ INVENBED T PERATE AS & LIGENSE 0R AUTHIRIZATIN T0 USE I FUR ARY PIRFOSE VITWOUT THE SPECTFIC VRITTEN COMENT (F OVEREAD DK CIRPCRATIOL
m UWLESS OTHERVISE SPECIrIED FINISH | vie tiommine. The Civiginat. DATE INH.DAI'I 3 N CODE 207
@ E IER es1 FIT| es + 25 N/A . ™ Clark | 114721 -42‘.5élPSwF 4!7{429/434/466,
TO 500 +006/-003 | x + 1 [UNIT OF | ™remns e 1/8/21 4
XX % 03 DRMIING
. 03 | MEaSRE N/A a e D-411787
MoEs 5 | EA T CLARK | 4/28/21 [oo—7a [emrl o3


chris
Texas


8 7 6 S 4 3 2 | 1
(12) SECTION DOORS WITH
1/4—20x9,/16" TRACK BOLT (18) 3" 20 GA 80 KSI U—BARS
AND 1/4—20 HEX NUT E LOCATED AS SHOWN
THROUGH THE SLOT IN THE /
TRACK AND TRACK CLIP { iy
; (11) SECTION DOORS WITH
(17) 3" 20 GA 80 KSI U—BARS
] . LOCATED AS SHOWN
DETAL A
(10) SECTION DOORS WITH:
r (15) 3* 20 GA 80 KSI U-BARS
7 . LOCATED AS SHOWN
12 GA COMMERCIAL TOP FRAME  / \
BRACKET WITH 13 GA ROLLER £ :
CARRIER_ATTACHED WTH (4) ! (5) SECTION DOORS WITH
&?ﬁp‘ﬁ%/émss% DRILLNG \ ! (14) 3° 20 GA 80 KSI U-BARS
\ J LOCATED AS SHOWN
) .. _./"
)
DETAL B
- 8) SECTION DOORS WITH:
ADD (2) 1/4—14x7/8" SELF (12) 3S ;0 GA 80 KSI U-BARS
DRILLING CRIMPTITE SCREWS LOCATED AS SHOWN
(INSIDE OF EACH INSIDE END HING
2" STEEL ROLLER WITH A
E AR T?{;L?.ER 7 (7) SECTION DOORS WITH
. ! (11) 3" 20 GA 80 KSI U-BARS
LOCATION. 1/4" MAX ; LOCATED AS SHOWN
BETWEEN PUSHNUT AND |
BRACKET OR HINGE H
13 GA WDE BODY END (6) SECTION DOORS WITH
HINGES EACH ATTACHED {
- (9) 3" 20 GA 80 KSI U-BARS
DRI chmpie’Sorewe. LOCATED AS SHOWN
DETAIL C
— sttt (5) SECTION DOORS WITH
- ——(2) 1/4-14x7/8" SELF DRILLING (8) 3" 20 GA 80 KSI U-BARS
N CRIMPTITE SCREWS LOCATED AS SHOWN
HALF HINGE
14 GA WIDE BODY (2) 1/4 x 1/2° (4) SECTION DOORS WITH
T%Efgfgyﬁrnl?f)e / CARRIAGE BOLTS AND (6) 3" 20 GA 80 KSI SUEHBARS
"~ LOCATED A OWN
1/4-14x7 /8" SELF 4 1747 FLANGE NUTS
DRILLING CRMPTITE = ~—
CRE SOLD SECTION APV SECTION
DETAL D
ATTACH U-BARS WITH
N -
DRILLING CRIMP' RE!
12 GA BOTTOM BRACKET
ATTAGHED WTH (3) AT ALL STILE LOCATIONS, TYP.
1/4—14x7/8" SELF DRILLING
CRIMPTITE' SCREWS
DETAL E
THE DRAVINGS AND ALL OTHER INFDRMATION CONTAINED HEREIN ARE THE CONFIDENTIAL AND PROPRIETARY PROPERTY DF OVERHEAD DOOR CORPORATION AND ITS AFFILIATED COMPANIES. THIS DRAVING
A OF TS TRAVING OR INEDRAATION 1% INTENDED T OCRATE A5 A LICENGE DR ALTHIRIZATION 10 USE TF FO ANY PURPDSE. UITHJT THE SPECIFIC URITTEN CONSENT LF OVERIEAD DOOR, CORPLRATION
STATIC PRESSURE RATINGS APPROVED SIZES e = FINISH [ oot | _we | e [owmems
MAX WIDTH: 10'—4" T by, SRV [man | INDLOAD, OPTION CODE 2074
DESIGN PRESSURE(PSF): +37.5/-42.5 —— N/a | o TELark [ 1/19/21  [SERIES 4disscoreerides/aansase,
MAX HEIGHT: 24'—1 UNIT DF | miens SERIAN 1/8/21
IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 24} —— HEASRE N/ e B D- 411787
REF DVG €A T CLARK 4/28/2l G N/a  [swew 3



chris
Texas


MIN 3/16" THICK
STEEL FOR MOUNTING

MOUNTING WALL ANGLE:

E60XX MIN.

TRACK CLIP

1/4-20x9 /16"
TRACK BOLT AND
1/4-20 HEX NUT

OPTIONAL: WALL ANGLE MAY BE ATTACHED TO
SUPPORTING STEEL WMITH MIN. (1) 1/4—20x7/8"
SELF DRILLING SCREW WITH 1" 0.D. WASHER AT
EACH HOLE OR PAIR OF HOLE LOCATIONS IN

RUBBER GASKET
1/8" ANNEALED DSB GLASS (MIN)
DLO= 5§"X20"

TRACK LEU OF WELDING
MOUNTING TO STEEL DETAIL
RUBBER FRAME GASKET
(NON—INSULATED DOORS)
FDAM TAPE
VA SePReRd PLASTIC FRAME
1/8" ANNEALED DSB GLASS (MIN)
DLO= 5 3/4"X22 7/8"
(10) #8X2" SHEETMETAL SCREW
(1) PER VERTICAL FRAME LEG
(1) PER HORIZONTAL FRAME LEG
S n SOk isT
INT, PLASTIC FRAME (INSULATED
WITH 22% FIN

BUTYL TAPE

ALUMINUM FULL VIEV FRAME
CONTINUQUS
WALL ANGLE TRACK mm

@ /4 X 718
SEMI TUBULAR
RIMITS OR (2) |
1/4"-20 TRACK \
BOLTS WITH NUTS",
OR (2) .28" DIA
RESISTANCE SPOT
WELDS:

4
g
STATIC PRESSURE RATINGS APPROVED SIZES " ]
] 4o = [MAX WIDTH: 10'—4" =Y
DESIGN PRESSURE(PSF): +37.5/~42.5 1 ot ot ,' S, 1 33174
IMPACT/CYCLIC RATED: YES MAX SECTION HElGHT: 24|

‘ ®eoq l..l..
s~

7 I

3/8" SINPSON TITEN HD,
2-3/4° MIN_EMBED INTO
MIN 2000 PSI CONCRETE
AT EACH HOLE OR PAR
OF HOLE LOCATION

1/4-2000/16"
el o s
1/4-20 HEX NUT-

S
| _——"1/4" POLYCARBONATE

TPEMVWMBALLDTIERM \TIDN CONT/
AND INFDRMATIDI N.]NVHI.E[I!]NPART,HAYNDTEGBPIEIIINMNWIER[R
ANY OF THIS DRAVING OR INFORMATION IS INTENDED TD

‘O@ /CEN SQ,O.-'&:

AND PROPRIETARY

MN_3/16° THICK
STEEL FOR MOUNTING

MOUNTING WALL ANGLE-

-QPTIONAL: WALL
PPORHNGSTmH
SCREW

Sul
SELF DRI

2GA_SCAB BRACKETS (OPTIONAL)
© 12 SPACING SECURED TO WALL

/" ANGLE WITH 1/4-20 TRACK BOLT

AND 1/4—20 FLANGE NUT

WALL ANGLE FACING
INWARD

ANGLE MAY BE ATTACHED TO
ITH MIN. (1) 1/4-20x7/8"
17 0.D. WASHER AT

EAG'IOI;_KI.E R PAIR OF HOLE LOCATIONS N

PROPERTY
ANYDNE VITHOUT THE PRIDR VRITTEN

DISCLOSED T CONSENT OF OVERHEAD DOOR
[PERATEASALMISE[RMII‘HIR]ZATWNTDLBEHFWMVHMIV‘IHMTHESPEW'CVW

rwmtmmunmmmmmmm

MAT.IDN. NO nm.usun: OF
IIIISBIT I‘.IVERH DOOR

CCORPORATIDN.
1/14’./:1 mmn‘ 7430 42T AES) 434/ 436,
T CI;:RK 5 -42.5 PSF. 10'-4* MAX
e 1/8/21
_J QN e D- 411787
T CLARK | 472872l oo~ N/a  Jswiaw 3



chris
Texas


		2021-05-03T10:07:14-0500
	John Christian Voelkel




